Algebra 1 – Practice			       		Name:
Unit 3- Ratios and Proportions				Period:   3     8            Date:  11/27/17							
Write a proportion and solve.
We Try: If three out of every seven students are going on a field trip, how many will be going if there are 854 students in the school?

You Try: The ratio of chicken to ducks in the barnyard is 7 to 5. If there are 91 chickens how many ducks are there?


1. In an enormous jar of marbles, the ratio of red to green marbles is 13 to 5. If there are 600 green marbles, how many red marbles are in the jar?

2. A glass company estimates that it takes 15 minutes to install 2 windows. In a large construction project, there are 124 windows to be installed. How many hours will it take to install these windows?

3. A car travels 47 miles on 2 gallons of gasoline. How many miles can it travel on 17 gallons of gasoline?
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Write a proportion and solve.
We Try: In a lake, the ratio of trout to carp is 7 to 11. If there is a total of 756 fish, how many are carp?


You Try: In a recent basketball game, the Red outscored the Spartans at a ratio of 5 to 2. If a total of 98 points were scored, how many points were scored by the Spartans?

4. There are 600 students in a school. The ratios of boys to girls in the school is 3:5. How many girls are in the school?


5. A jar is filled with pennies and nickels to the ratio of 5 to 3. There are 30 nickels in the jar, how many coins are there?


6. In a recent political poll, 500 people were surveyed. The responses showed that 232 people favored candidate Kahn over candidate Walker. If this survey is representative of the 2,000 voters in the district, how many voters favor candidate Kahn?
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